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HelloWorld.java:3:
Java [Y ABYFEA] ) BRHYFEEA.
System.out.print("HelloWorld";
error.hs:1:28:
1S =Y {AYEE | parse error (possibly incorrect
indentation)
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The function “take'is applied to three arguments,

but its type ‘Int -> [a0] ->[a0]' has only two In the second J0455 LK NDtakeBI %
argument of *($)', namely “take n lines cs' In the expression: @) 5|1 & AES
unlines $ take n lines cs

The function ‘lines' is applied to two arguments, but its type
“String -> [String]’ has only one In the second argument of .
*(S)', namely ‘lines cs ¢s’ In the second argument of *(S)', A= 7Amazblgngfh5§
namely ‘length S lines cs cs' In the expression: print $ length BOSIHDOHEHES

S lines cs cs
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[“error.hs:1:30: lexical error in string/character literal at character ”,
“error.hs:14:1: Couldn't match expected type 10 t0"”,

“‘with actual type "[Char]”,
"In the expression: main”,

"When checking the type of the function'main™]
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[“error.hs:1:30: lexical error in string/character literal at character ”,
“error.hs:14:1: Couldn‘t match expected type 10 t0’ with actual type [Char]’

In the expression: main When checking the type of the function main*”’]
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error_sent = analysis $ bound (mydropWhile
(unwordsl"lexical error in string/character literal at Character”b),
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[main putStrLn "Hello World!!" ]

error.hs:1:7: Parse error: naked expression at top level

The error is detected.

SEOFHZIE

[error1]

filename : error.hs

error point : (1,7) <- (row, column)

error contetnts :
There is not "=°
Please check whether "=’ exist ?
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